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Q1) (4 pts) Find the derivative of the function f(x) = xsin™! x + V1 — x2. Write your
answer in simplest form.

In5
Q2)(4 pts) Lety = Logs (X—H) and % = # , then find the value of a.

xX—4

Q3) (4 pts) If the curve y (x — 1) + y2 = 4 has a horizantal tangent at the two points
(a, tb), then find a + |b|



Q4) (6 pts) Let y = (x + 2 cosx)**1, then find y(0)

Q5) (6 pts) Let f(x) = x*° + sin(2x). Find f #?(x)

Q6) (4 pts) A particle moves with a position function S(t) = sin(nt) + cos(mt),t = 0,
where t is measured in seconds and S in meters. Find the total distance travelled by the
particle during the time interval 0 < t < 1.

Q7) (4 pts) If F(x) = g(x)f(g(x)), where f(3) = 4,9(2) = 3,f(3) =5,4(2) = 10, then
find F(2).



